1. PR RE R HERE 2R (T AR - 45 FHiE)
A 3 AR
(HAZ: 1,/ nd RHiiZM,10a)
¥ S53 54 55 56 57 58 59 60 61 62 63 HT 2 3 4 5 6 7 8 9 10 11 12
JHi&
F £ 13,630 15,100 | 17,800 = 20,500 | 23,700 | 26,500 | 26,800 | 27,000 26,900 | 26,800 | 26,600 | 27,500 27,600 | 27,800 = 28,600 | 26,800 = 27,000 = 27,400 | 27,900 = 28,500 | 29,100 = 27,900 | 27,800
£ R A Hh - 16,000 17,800 | 18,200 19,600 | 19,100 | 19,200 | 19,400 | 16,700 | 16,400 16,200 | 16,100 | 18,100 17,700 | 20,900 = 14,300 | 14,500 = 15,200 | 15,400 = 15,600 | 15,800 | 17,000 17,000
PO M 51,010 | 53,300 = 56,700 | 64,200 = 84,200 | 83,800 95,600 | 96,800 | 96,700 = 97,500 | 98,700 | 132,200 | 156,600 | 164,000 | 164,000 152,000 | 149,000 = 140,000 | 132,800 126,000 | 115,400 | 107,100 | 98,300
W T % Hio| 31,020 22,400 | 26,000 27,700 | 28,100 | 28,400 32,300 | 34,600 34,600 | 34,600 = 34,600 | 34,700 | 41,600 | 43,400 44,800 | 46,800 | 47,200 47,400 | 47,400 = 47,500 | 47,400 | 47,200 | 46,900
T ¥ i 6,620 5960 | 6,230 | 7,100 9,130 | 11,800 | 11,800 | 12,100 12,100 | 12,000 12,000 | 12,000 = 12,000 | 11,900 | 13,100 14,700 | 14,600 | 14,300 | 14,300 14,300 | 14,400 = 14,400 | 14,200
FHIX N G M| 7,810 7,430 | 8,350 | 9,500 | 13,300 | 15,500 16,000 | 16,000 = 16,000 = 15,900 | 15,900 | 15,900 | 15,700 | 18,000 | 18,100 21,300 | 21,500 20,000 | 17,700 = 18,600 | 17,700 = 18,400 | 18,400
£ % 20,740 | 21,800 | 24,400 | 27,900 = 34,300 | 36,600 39,700 | 40,100 | 40,100 = 40,100 | 40,300 | 48,300 | 54,000 | 56,000 | 56,400 51,800 | 51,300 49,700 | 48,400 = 47,900 | 46,000 = 44,800 | 42,800
# Hi | 337,000 | 349,000 | 340,000 | 353,000 352,400 | 363,000 | 383,400 | 420,600 | 398,800 = 391,300 | 385,900 @ 386,100 | 407,800 412,000 | 394,000 364,000 | 360,000 358,000 | 355,700 353,000 | 347,000 336,200 | 324,800
= CHQ7: 9/t kMg 10a)
13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RIG 2 3 4 5
JHi&
F £ 27,800 | 27,600 = 27,400 | 26,400 | 25,100 24,500 | 25,000 = 24,000 | 22,900 21,600 | 20,300 19,200 | 17,700 | 17,100 16,700 | 16,400 = 16,300 | 16,300 = 16,200 | 16,100 | 15,900 15,900 | 16,100
% b R SA M| 17,000 | 17,000 | 16,900 | 16,000 | 15,400 14,800 | 14,300 = 13,700 | 12,800 | 12,000 11,300 | 10,500 = 9,900 | 9,400 = 9,100 | 9,100 = 8,900 | 8,800 = 8,800 = 8,700 | 8,600 8500 | 8500
PO M 87,900 | 79,600 = 72,700 | 64,000 | 57,900 55,500 | 52,400 | 49,800 | 47,000 43,500 | 40,700 | 38,200 | 36,700 | 35,400 34,500 | 33,900 33,600 | 33,600 33,700 | 33,700 | 33,600 33,400 | 33,400
W T % Hi | 46,400 | 45,500 | 44,200 | 41,600 | 39,000 | 37,200 35,700 | 34,300 32,600 | 30,800 | 29,000 | 27,200 - - - - - - - - - - -
T ¥ i 14,000 13,700 | 13,400 12,900 | 12,900 = 12,500 | 12,100 | 11,700 | 11,200 | 10,600 = 10,000 | 9,500 12,700 | 12,100 = 11,800 | 11,600 = 11,500 12,900 | 12,900 = 12,800 | 12,800 | 12,800 [ 12,900
X N 4 M| 18,400 | 18,400 | 17,800 | 17,000 16,200 | 15,400 = 14,700 | 14,100 | 13,400 | 12,500 | 11,700 | 10,900 - - - - - - - - - - -
£ % 40,400 | 38,500 = 36,700 | 34,000 | 31,900 30,600 | 30,300 | 29,000 | 27,500 25,800 | 24,200 22,800 | 21,600 | 20,800 20,300 | 20,000 19,900 | 19,900 = 19,900 | 19,700 | 19,600 19,500 | 19,600
# Hi | 310,700 | 290,100 | 258,100 | 220,900 | 165,400 | 138,600 | 124,300 114,400 | 104,800 = 96,500 | 88,100 = 80,800 74,600 | 72,400 70,300 | 68,800 = 67,700 | 66,600 | 65,100 63,600 62,100 = 60,800 | 59,700




NG N 2 Ea= = A H NN
2. R EY AR RIS R (AR IR - 25 i)
At A ,
(AT : %)
T
S53 54 55 56 57 58 59 60 61 62 63 Hot 2 3 4 5 6 7 8 9 10 11 12
JHi
£ £ H 3.4 5.1 7.5 6.5 5.4 2.1 0.5 0.1 A01|] A0S AO03 0.0 0.1 0.5 AN02] A03| AO0.2 0.1 0.2 0.5 0.3 A02| A0A4
R GA M - 6.7 11.3 10.7 7.6 2.4 0.4 0.0 A05| A21| Al2, AN0T| AO0.6 1.7 0.6 1.4 0.7 1.3 1.4 1.3 1.3 0.8 0.3
(L 1.8 3.3 5.2 4.6 4.3 1.7 0.5 0.3 0.1 0.0 0.1 0.2 0.4 05 AL9| A28 A22 A26 A26| AN23 A35 | A3T| A40
eI ¥ M 3.8 3.9 6.6 6.2 4.8 1.6 0.6 0.4 0.1 A02] AO0.1 0.1 0.0 0.8 0.5 ALl AO03 0.1 A04] AO0L1| A03 A08| AO09
T 2% # 1.8 2.7 4.2 4.2 3.5 1.2 0.5 0.0 0.0 A08| A03| AO03 0.0 0.3 0.5 A01| ALO| A08| A06 A03| A03| A06| AO0.9
XA E H 2.7 3.6 5.9 5.4 4.7 1.7 0.5 0.0 0.0 A05| AO0.2 0.0 0.1 0.1 A04] ANO04 0.1 A02] AO0.3 0.0 0.0 AN02 AO0.2
2 H B’ 2.9 4.4 6.7 5.9 5.0 2.0 0.5 0.1 0.0 A04] AO0.2 0.0 0.2 0.5 A05| A08| A06| A04| A04| ANO0L| A0S ALOl Al2
PN Hh A 0.2 2.0 2.2 1.3 0.5 0.2 AN03| A02| A0S A33| A22] AN20] ALT 0.4 0.0 A02] ALl Al4] A1l A09| AL19| A29] A36
(AT %)
T
13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RJC 2 3 4 5
JHi
F = NO06 | AN08| Al4d| A3T A44] AN43 ) AN40| A4l ] A46 | A54 ALBT| ALT| A51| A39 A28 A20| Al5| Al2] All Al2 ALl A09| A06
O R GA M 0.0 0.1 ALO| A29 A36| A36 A32| A39| A4T| A9 A62| A65| ALT| AN49 A3T A26 ALT Al2] ANOT| Al2 Al2 AN08| AO07
O M ANB3 | ALl AB6| ATT A80| ATT7T, A63| A58 A63| AT0 A66| A66| ABL9| Ad44 AN32| A23 ] ALT| A1L3] A1L0 Al2 Al2 Al10| A0S
T ¥ Hb Al4] AN19 ) A25] AN46| AB5 | ABO0O| A46| A44 AbB1| AN6.1] A6.2] A6.1 - - - - - - - - - - -
T 2% #h ALl AL16| A23 ] A40 A4l A38) A34| A36| A39| Ad44 AN49| AbB2| A50| A38 A25| ALT| ALl AN08| A05 A06 A0S A03| A03
XN A02] A0S AL8| A42] AbB2| A49 A45 A43 | A48 A60| A63 ] A6 - - - - - - - - - - -
2 H & ANLT] A18| A24) AN46 AbB2| A51 AN45| A45] AB0| A58 A5B9| Ab9| AL3 A4l A29 A21] Als5| Al2] AN1.0 ALl ALl A09| A06
AN i i} AN42] AN6.6 | ATL9 | A14T A162  A16.2 A98| ATI9 | AT4A| AT3 AT4A| ANT2| AN64 AN46 A31| A24] ALY ALT] AN1LT A18 A18| AL3| A12




3. P EY A FERIHERS 2 (RAL6 IR K& UM - 22 H13k)

A 38 A
(HAZ: %)

i3

S53 54 55 56 57 58 59 60 61 62 63 Ht 2 3 4 5 6 7 8 9 10 11 12
2 U - Bk
HOHE R 6.7 5.9 5.0 2.0 0.5 0.1 00| A04| AO0.2 0.0 0.2 05| A05| A08| A06 A04| A04 A0l A0S ALO| Al2
BOFE R 6.1 6.4 5.9 3.4 1.6 1.0 0.4 0.1 0.2 0.1 0.7 1.1 0.9 0.4 0.6 0.3 0.3 0.2 00| A02| AO0.3
HOWOR 6.9 6.6 6.1 3.5 1.6 1.3 1.3 1.2 2.4 4.6 17.7 46 AN03| ALl A0T A05| A06| A04| A0 A24 A35
/

® o om R 5.9 6.1 5.4 3.3 2.2 1.5 0.4 0.0 0.0 0.0 0.8 1.2 1.0 0.6 0.6 0.1 0.3 0.2 A03| A06 AO0.T7
1T 78 6.2 6.1 5.1 02 A04| AN02| A0 0.1 0.2 0.4 1.7 2.0 1.7 0.9 1.0 0.7 0.5 0.7 02| A06| AO0.9
wm B R 7.7 7.4 6.1 4.1 2.4 1.2 1.0 1.0 1.8 3.3 7.4 5.5 1.8 A04| A03| A02 A0T| A06| AL5| ALY A24
W 7.2 7.0 5.8 3.6 2.5 1.7 1.3 1.3 2.3 5.0 10.9 5.5 0.1 ALl| A06 A08| All| A09 AL5| A23 A26
= KRB E Y 13.6 8.9 5.7 3.4 2.7 2.9 7.1 34.4 22.4 13.9 21,5 A32 A142 A127| AT1| A60 A65| A38 Add AT3 A6.7
4 R 8.8 7.4 5.8 3.5 2.5 2.0 2.7 9.7 7.4 7.2 13.7 3.1 A38| A43 A23| A21| A25 A16 A22| A36| A36
(HAZ: %)

i

13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 RIT 2 3 4 5
2 - Bk

#H I3 ALT| AL8| A24| AN46 AB2| AB51| A45 A45| A50 A58 AB59 AB59| AB3| Adl A29] A21 | AL5| AlL2 A10 All| ALl A09| A0S

AN04| AOT| ALB6 | A25] A32| A32] A32 A33| A44) A48 ABL | A42] A26| ALT Al3| Al4d] A13| AL3 A09 Al2] A10| A08]| A0

iy

e
H S 4
=

il

il

A43 ) AbBS| ABSLH | A6T| A6l A4d42 AL8| AL8| A49 A4d2| A45] A09 0.7 1.5 1.0 1.4 1.7 1.9 1.9 0.9 0.7 1.7 23
F AN09 | ALL| A32 A48 ALl A49 AN44| A44] AB3 | ABS5 AB6| AbB5| Ab2 A48 A42| A36| A30 A25 A21| ALY Al6 All| A07
(1TR A Y ANl4| A24] A36 A46] Ab4| ABS A45| A38| ALO| A42 A43] A36| A29 A20 Al5| Al2 A10 A09 A0T| A08 A10 A04]| AO2

fm B R A27 A43| Ab2 AB3 | A48 AT A28 A23] A36, A35| A60] A35| AO09 0.8 1.6 1.3 0.8 05| A03| A06| A05 A05| AO02

M5 | A33 A43 A46 AB2| A4T A35 | A24) A23] A38| A39 | A40 A34 A26| AL9] AL AL2 A09| A06| A03 | A08 A06| AO0.2 0.3

= KRB EY| A66 AT3 AT0| AB3 | A29 0.9 5.1 .70 A6l A32| A19] A10 0.1 0.8 0.9 1.0 1.2 1.7 2.1 0.0 0.1 1.4 2.7

e EH ¥ % | A4l A0 AB6 AB2| Ad42 A24 A0S Al2] A44] A3T | A34 A2T| ALY Al2] A09 A06| A03 0.1 04 A06| A04 0.3 1.0
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